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Lab  Exercise 4
PANEL DATA
This exercise is a follow up of the class exercise on Panel data approach, where the relationship of  civilian unemployment rate Y(%) as a function of manufacturing hourly compensation (wage) for the years 1980-1999, measured in constant US dollars ( 1992=100), is investigated for three countries; US, UK and Canada. The data is reported in Table 16.5. The model is 
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Eq 1

a) The relationship can be estimated separately for three countries, namely; USA, UK and CANADA. What are the expected sign of the slope coefficient and are the estimated coefficients conform to the expected signs? Are they statistically significant?
b)  Can you POOL the data and estimate one equation for all of the three countries? 


Here you are assuming common slope and common intercept for all countries.


(Case 1: Common intercept and common slope; 
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c) Is there a test that will help you test between the model in (a) and model in (b), [Chow test].
d) Estimate the model using fixed effect model. Here use the dummy variables and construct the fixed effect model manually.  Here you are assuming different intercepts but common slopes. (Case 2: Different intercept and common slope
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e)  Estimate the model using fixed effect model, with different slopes. Here use the dummy variables, for both the intercept and the slope coefficients. Here you are assuming different intercepts and different slopes. (Case 3: Different intercept and Different slope; 
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f) Do the results differ from the estimations in (a). 

g) Estimate, using the command provided in EVIEWS the random effects model. How will you choose between this model and part (d).What is the explanation for this choice and the test for this selection?
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